
--------------------------------------------------------------- 
U tube manometer: 
--------------------------------------------------------------- 

• A U-tube manometer is an instrument to measure the pressure of a gas.
• The pressure of the gas, forces the liquid in the manometer to  rise up

on the open side of the u-tube till it stops rising any further. The
height difference between the two levels is the measure of the pressure
of the gas.

• The excess pressure of the gas ( that is its pressure above atmospheric
pressure is equal to the pressure due to  the difference in the level of
liquid  on each side)
==========================================================

Example: 

When the  manometer is attached to a 
gas supply, the  level of the water on the 
left falls and that on the right rises. The 
pressure of the gas supply is = 
the pressure due to the 20cm depth of 
the water +  the atmospheric pressure. 

---------------------------------------------------------- 
Suppose there is a gas leak and the pressure of the gas supply falls. 
In that case the water level at P rises  and the water level at Q falls 

Explanation: 
The gas pressure falls and 
becomes less that the 
atmospheric pressure. So the  
atmosphere pushes on the water 
on side Q. 

---------------------------------------------------------- 
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---------------------------------------------------------- 
A water manometer is used to measure the pressure of  gas supply to 

houses because if mercury is used then 
the value of h would be too  small. 

 
 
 
 
 

--------------------------------------------------------------- 
Suppose the level of the liquid on both 
arms of the manometer is the same, 
then that means that the gas pressure 
is equal to the atmospheric pressure. 
 
 
 

 
--------------------------------------------------------------- 

For a less dense liquid , the value of" h" 
increases. 
 
 
 
 
 
 
 
 

--------------------------------------------------------------- 
The pressure exerted by carbondioxide 
= 5cm of mercury above the 
atmospheric pressure 
 
 
 
 

-------------------------------------------------------------- 

www.smarteduhub.com 2



 
Application based questions: 
--------------------------------------------------------------- 

 
--------------------------------------------------------------- 

 
--------------------------------------------------------------- 
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--------------------------------------------------------------- 
EXTENDED THEORY QUESTIONS: 
--------------------------------------------------------------- 

 
--------------------------------------------------------------- 
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